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11) According to communication research findings, some amount of gossip is necessary for
Faguer oner foremdl @ e, GeateEaa # foa @ o @03t aga s - o spasas & 7

[Q_uestion ID = 1966][Question Description = S2_qSNz_PG_GP10_Q16]
| 1. Pro-social motivation/zwmsr - gaffer Fajzon

[Option ID = 7861]
2. Prevention of distortion /i Bramo

[Option 1D = 7862]
3. Extending communication range/simor 31 w1 el @i

[Option 1D = 7863]
4. Relocation of emotional affiliations/itenmm Aaamal o @ Fere

[Option ID = 7864]



12) Which of the following are important in intercultural communication?
A. Valuelessness

B. Absence of respect

C. Power distance

D. Individualism

E. Gender roles

Choose the correct answer from the options given below:

3Gel: - HAizpicm AYUUI 3 fosifciRaa 3 3 ®iol - ®la Ascaygui 3 :

A. Fcadiorar

B. J1sama1 bl srequizeric
C. siferoRt @ #e gyl

D. caftpare

E. cifdro yfdrmo
ofial feu =1e faeeul 3 21 T8 302 ©1 a=Ie Sifoe ¢

[Question ID = 1967][Question Description = S2_qSNz_PG_GP10_Q17]
1. A, Band C only/@aea A , B afie C

[Option ID = 7865]
2. B, Cand D only/@aar B, C afiz D

[Option ID = 7866]
] 3. C(,DandEonly/adaer C, D sz E

[Option ID = 7867]
4. A, BandE only/d5aet A, B alis E

[Option ID = 7868]



13) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: Smiles and laughter should be avoided when messages are serious.

Reason R: Non-verbal cues are always contextual like verbal communication

In light of the above statements, choose the correct answer from the options given below

ol & weret Ru a1w E :  uep atfdresera (Assertion A) @ wu 3 3fiz g1 3ud® @Rur (Reason R) @ wu 3

sfdrerst (A) @ s/ Ao siilz 8, A eIl a &30l ardl sdisl A o aifdu
onrut (R) 1 31z - onféges Jidda onféges - iquur &t ave sdten Yisnehsr ala 8
JUs Bl B AHlclla A, ofid Gu Rasedl A A Jdl 3oz @1 o6 B

[Question ID = 1968][Question Description = S2_qSNz_PG_GP10_Q18]
1. Both 'd R are true and R is the correct explanation of A/(A) afiz (R) Seil 7w & afiz (R), (A) & 3@t =nzen 8

[Option ID = 7869]
2. Both A and R are true but R is NOT the correct explanation of A/ (A) 3tz (R) Grail 211 2 wzagy (R), (A) 6 Ft comeeen ot 2

[Option ID = 7870]
3. Ais true but R is false/(A) =1 &, weag (R) aewer 8

[Option ID = 7871]
4. Ais false but R is true/(A) amera &, ussg (R) m=1 8

[Option ID = 7872]



14) ldentify the sequence of human communication skills.
A. Public speaking

B. Group interaction

C. Relationship

D. Feed forward

E. Self - presentation

Choose the correct answer from the options given below
HATGTART JFYUUT - BI9icl & @A &bl usara Hifsu :

A. sdsifores simaor

B. 3195 3toc: fagan

C. dder

D. 615 wrad

E. ¥a gxgfa

olidl f&u s1u frpedl 3 A1 J8l IR @1 adel Hifsw :

[Question ID = 1969][Question Description = $2_qSNz_PG_GP10_Q19]
1. B, D, E, C, A

[Option ID = 7873]
2. A,C,D,B,E

[Option ID = 7874]
3. 6 E.X DB

[Option ID = 7875]
| 4. E,C,B,A, D

[Option ID = 7876]



15) Match List | with List II

|List I List 1

Communication barriers Examples

A. Psychological |. Use of technical language

|B. Organisational Il. Poor retention

C. Personal lll. Functional specialisation

[D. Semantic IV. Fear of challenge to authorityj

Choose the correct answer from the options given below:

et -1 ot e -1l @ g S ;

et - gt -1l
(0T ara3ier) (3c1E3uT)

A. sreitfersnfor |I. dasolldbl MIaT a1 GRIeT

B. stiraforas . Rt gRremrzor (gare R2eror)
C. daftow |III. yoricaw Rifdndiazun

[D. erecrel |W.la1ﬂmnm}gaﬁ‘rﬂmm

ofidl Ru o0 Rwedl 3 A w8 sz gfow :

[Question ID = 1970][Question Description = S2_qSNz_PG_GP10_Q20]
1. A-<l,B-1l,C-lll,D-IV

[Option ID = 7877]
2. A-ll,B-ll,C-IV,D-l

[Option ID = 7878]
3. A-lll ;B-IV,C-l,D-l

[Option ID = 7879]
4, A-IV,B-1,C-ll,D-l

[Option ID = 7880]




11)

Organisational communication is in nature.

(1)  Obtrusive (2)  Contradictory

®  Nonbehavioura @ e
CUCE T || PR— R 0 ]
(1) = (sfagaea) 2 wrnfEd (FnfzEl)

® o (- G

[Question ID = 1016][Question Description = 116_00_General_19_0CT22_Q16]

1. 1 [Option ID = 4061]

2. 2 [Option ID = 4062] \
3. 3 [Option ID = 4063] @

12)  Development of communication skills among learners involves : @
(&)  Vertical flow of information Q
(B)  Restricted expression of views O
(C)  Logical argumentation
(D)  Sharing of doubts @

(E) Understanding human psychology

Chooaet]:uu:acurrectanswari!rmntheoptmnsgr'.'*lm&0

(1) (A (B). (C)only

(2)  (B),(C). (D)only ! O

3)  (O). (D), (E) only

(4) (A, (D). (E)only Q

(&) el e
Feemal ) wferaifera sifuaafia

are-faanz
\QD) w30 3
(E) uF4a g 41 wua

44 o o foeredl 3 w1l 3 ) w1 fifao

(1) %4 (A), (B). (O)
(2) %4 (B), (C), (D)
(3) %4 (C). D). (E)
(4 e (A). D). (E)

[Question ID = 1017][Question Description = 117_00_General_19_0CT22_Q17]
1.1 [Optlurl ID = 4065]




13)
Given below are two statements:

Statement I:  The physical context of communication must be tangible.

Statement II: The temporal context of message deals with the sequence of events.

In the light of the above statements, choose the correct answer from the options given
below:

(2) Both Statement I and Statement II are false. QQ

(3) Statement I is true but Statement II is false %

4) Statement I is false but Statement I is true Q

Fa4L a1 e #2d 2 g )
w9 % Fifers Hav U 2 F 35w 1 Ieend A 2

%\'omm%mﬁ.aﬁ&qmﬁmaﬁm&mmwwaﬁﬁm

(2)  F9A I3 [ 7F 95 21
(8)  #vA [ 974 2, fad #ua 11 3797 2|

4) w5 2, e w9 I as 8

Question ID = 1018][Question Description = 118_00_General_19_0CT22_Q18]

2. 2 [Option ID = 4070]
3. 3 [Option ID = 4071]
4. 4 [Option ID = 4072]



14)
Types of communication distance on a continuum of ethnocentrism in sequence are :

(A) Indifference
(B) Avoidance

(C)  Disparagement
(D)  Equality
(E) Sensitivity

Choose the correct answer from the options given below:

(1) (B (C). (E). D). (A)

@ OE.A6.0
3 (C). D). ®. @&, B

*
>
O
Wﬁwnﬁh@)mmyami:
@ (724
®) )
(©)\ wau (fravtam=z)
 ~y P
\\')(E, Hzaefer (dfaffad)
% At T o Faspedi 6 8 |l 3w o wra it

(1)  (B), (O). (E). D). (A)

(3)  (C). (D). (E).(A). (B)
(4) (A (B). (C). (E), (D)

[Question ID = 1019][Question Description = 119_00_General_19_0CT22_Q19]
| 1. 1 [Option ID = 4073]

'73. 3 [Option ID = 4075]
4. 4 [Option ID = 4076]



15
) Match List I with List IT :

List I (Types of Skills) List II (Characteristics)
(A) Public speaking (I) To gain information
(B) Leadership (ID Confidence
(C) Self-presentation (IIT) Problem-solving
(D) Interviewing (IV) Represents a credible person

Choose the correct answer from the options given below:

O @-O ® -a. (© - @ - av @\
@ (@-an ® -a. ©-®O ® - d Q

@ @-av. d®-OM (© -da (@O - dD E

N
S
0 1% | g+ I @

ESBECNEE e 11 (Fasnyam)
(A (M S T
®) an s
((6 spfa (IIT) & HErH
\'0; e (devgin) (V) s Favadra saf 1 s 50 B

) @-M @ -ad. (© -dn @D - av
(2 @-dmn @ -av), ©-a@ @ - an
3 @-av. ®-O © -d. @O - dn

[Question ID = 1020][Question Description = 120_00_General_19_0CT22_Q20]
1. 1 [Option ID = 4077]
2. 2 [Option ID = 4078]




11)
In face-to-face communication, the non-verbal cues provided by the receiver, car be considered as

2. Decoding
3. Physical noise
4, Symbolic representaion

AT TN & WS GRIVGH 5 7T sifEe® Y & HETSTHHATE?

3, M N
4.@@%% 'é\\"

[Question ID = 556][Questio D&%n = 116_0_GP16_SEP22_S2_Q16]
1. 1 [Option ID = 2221] b

2. 2 [Option ID = 2222]

3. 3 [Option ID = 2223] &0

4. 4 [Option ID = 2224]

1) o

riterest in media

4, External influence

St & g g & e B uRRa 87
1, URETRET
2 Wi R

5

4, TTRT THE



13)
which of the following are the advantages of grapevine communication?

A Smooth float of adverse comments

B. Knowing the morale in the organisation

C. Spead of propagandist views

D. To know the important issues faced by the employees
E. Assessment of employee anxities

Choose the correct answer from the options given below,

1. A B and C anly

2,B, Cand D only @
3.D, Cand E only

SIH-HETE SN & A ai‘lqﬁam%"

A, Ufdwe feufrgt

B.Wﬁ

2 wﬁw@aﬁaﬂﬂmﬁ

D@WW EAEEEISEHTr LR AEAEICE]

\s'brcmaﬁmmaﬁmw
%) ) PO

1. $TAABHR C
2. H9d B, C3RD
3, Hael D, C ANE

[Question ID = 558][Question Description = 118_0_GP16_SEP22_S2_Q18]
1. 1 [Option ID = 2229]
2. 2 [Option ID = 2230]
3. 3 [Option ID = 2231]
A

A ITOyntians 1Y = 299



14)
Suggestions for communication with people from different cultures can be:

A Emphasise your interpratation

B. Forget your own cultural identity

C. Promote an eco-system of mutual respect

D. Know the cultural context of other people

E, Always state facts

Choose the correct answer from the options given below:

1. A B and C only

| B ¢ ad ony
4. A D and E only ®

mm%mﬁwmﬁmmﬁn@:

A, T ATRSTIR T GAT 0

B, -1 & &) Gl g @ 4e *\
c.mmﬁaiwaﬂwmﬁ@rﬁaﬁu RG]

D.mmammﬁaﬁfg&
O

E. Gag a9 gl
il ey e et A @SR I

1. HEcTA B g)
o

N
é@é

4, HITADHRE

[Question ID = 559][Question Description = 119_0_GP16_SEP22_52_Q19]
1. 1 [Option ID = 2233]
2. 2 [Option ID = 2234]
3. 3 [Option ID = 2235]
A ATCatian 1D = 277481



15)
Given below are two statements

Statement |: The new system of communication has facilitated the emergence of an interactive
society.

Statement II: The new system of communication is digital and has integrated mulﬁpl@des of
communication through networks. Q

I light of the above statements, choose the correct answer from the options gi@w

&

2. Both Statement | and Statement |l are false
3, Statement | is true but Statement |l is false @

4, Statement | is false but Statement Il is true OQ

HY - | FEINT H1 73 WO A TP . aD NI B YTH AR |

i mw#mmm@q\m&wﬁmm@m et
WWW?I \}

S W o ¥ R @@aaﬁmgﬂ;

2. HYH | AR NI G
3, HY 1 T &,
4, HYT | AT E, k:C: A

[Question ID @Question Description = 120_0_GP16_SEP22_52_Q20]
. 1 [Option,|

2 2 [Opt zas]

3. 3 [o@ = 2239]



1

Sl. No.16
QBID:351504

In any modern society, communication has

(1) Power value
(2) Transient value
(3) Uncommon value

(4) Non-critical value

fardt off oy Toe § GEiNU ST el B :

(1) UfFd98a
(2) fADIcid Hed
(3) YR Hed

(4) TR-AAETTHD A5

1[Option ID=22661]

| 2[Option ID=22662]

3[Option ID=22663]
4[Option ID=22664]

Sl. No.17
QBID:351506

(1) Source of noise

A personal dimension of communication is N

(2) Field of experience

(3) Institutional affili

(4) Location of re

1[Option ID=22665]

2[Option ID=22666]

3[Option ID=22667]
4[Option ID=22668]

Sl. No.18
QBID:351509

ti




Human communication involves the skills of
A. Not being visible
B. Self-presentation
C. Group interaction
D. Forging relations

E. Using high brow language

(1) A, BandConly

(2) A CandEonly

| @ CDand Eonl
AT GRIYU H D191 SIS WA BTG
A THA A 8H @1 ,‘\}

B. W-U&id O(b

C. §Hg =i=gfshar 0

D. HdY F9H1 Q)
E.mmw@rmm

:ﬁ%% 79 9 IR I

X
(l%ﬂA,BGhTC

(2) BATA, CHRE

1 32

(4) BAAC, D ARE

1[Option ID=22669]
2[Option ID=22670]
3[Option ID=22671]
4[Option ID=22672]

Choose the correct answer from the options given below:



Sl. No.19
QBID:351512

Given below are two statements

Statement I: Communication can facilitate truth.

Statement Il: Communication can also be used to obscure truth.

In light of the above statements, choose the correct answer from the optlons gi

below

.m Both Statement | and Statement |i are true &

(2) Both Statement | and Statement |l are false ] 0
(3) Statement | is true but Statement Il is false

(4) Statement | is false but Statement Il }

R P Ry M. é\,\
HY - | : TR T Bl B
DY - |1 : T TG it R FhaT g

R SN X @vﬁm@aﬁmwwﬁqﬁ;

(3) | 9 &, fog o9 1 AT B
(4) Y| 3G g, g HYH 1 T B

1[Option ID=22673]
2[Option ID=22674]
3[Option ID=22675]
4[Option ID=22676]

c‘?
&

Sl. Nn 2N




Sl. No.20
QBID:351514

Given below are two statements, one is labelled as Assertion A and the other is labelled
as Reason R

Assertion A : The sign systems of communication have fixed rules and production
procedures.

Reason R : The sign systems are invented for cross-cultural communication. ®\
In light of the above statements, choose the correct answer from the option@

@

(1) Both A and R are true and R is the correct explanation of A 0

(2) Both A and R are true but R is NOT the correct explana!@

(3) Ais true but R is false &0

TR Py RUTUE: U DI HHDHYF (A) PRI (R) $gl T &
AHUHYA (A) : TG HI Yobd Hunferar & AR fRatu & frar-fafiat Fuffa @1

gl 0

BRI (R) : Gbd Honferd! &1 34d; guIgy & fou SnfaseR fear mar 8|

WM%Wﬂ@gﬁWﬂ%ﬁﬁwzﬁ:

“)é\&h?(a)ﬁw%m(m. (A) P! el ST B
(2) (A) 3R (R) GHI 9d & U (R), (A) P Gal GRS 8l g
(3) (A) & I W (R) 3T B

1[Option ID=22677]
2[Option ID=22678]




11)
The phenomenological interpretation in communication involves

1. Collective experience
2. Secondary experience

4, In!irect experience

TN H Hfouig sqre Hnitiiad § ¥ faae! giiod @l 6 ?
oy >

.
4, STE HTHa Q
)

[Question ID = 10239][Question Description = 116_0_GP20_SEP22_52_Q16] ::

1. 1 [Option ID = 10953]
2. 2 [Option ID = 10954] c)

12)
In communication, the test of parsimony will haww

2. Complex validity 0
3. Susceptible generalisability ! 0

4, Abstraction

% N H, Basihd & Giem H 9@ da 9 ern

| LafbewaE
2. Sfed aua
3. YT9-Ua0 GEAIS 0Tl
4, GRUEY

Question ID = 10240][Question Description = 117_0_GP20_SEP22_52_Q17]

= Op n':l =10 -
3. 3 [Option ID = 10959]
4. 4 [Option ID = 10960]



13)
Which of the following are the key features of linear model of communication?

A. One-way communication

B. Manipulated feedback

C. Absence of noise

D. Used for mass communication \
E. Sender-centric communication Q@
Cheose the correct answer from the options given below; %Q

1.A B and C only C)Q

2.8, Cand D only @
3.D, Cand E only

mﬁﬁaﬂﬁﬁﬂiﬁm$mﬂﬁﬁﬁﬂgﬁ&ﬁ?ﬂmi?

A, UE-HF Gu]
O

8. B-Titoid wiqa® X
C. IR 3 suref o(b
D. F-HHNY &g WEE 8H 0

E. UN&-digd HUg0

[Question ID = 10241][Question Description = 118_0_GP20_SEP22_52_Q18]
1. 1 [Option ID = 10961]
2. 2 [Option ID = 10962]




14) Q
Given below are two statements Q

Statement I: Non-verbal signals are used to emphasize and support the&mmu nication.
Statement II: Non-verbal signals are not a substitute for verbal commuMe&tion,

In light of the above statements, choose the correct answer fr options given below

1. Both Statement | and Statement |l are true &
2. Both Statement | and Statement |l are false

4, Statement | is false but Statement Il is

Y - | IR-Misd Yhas () Y R T6 &4 IR IGP 99U &g Hga eld 8

m-n:mmma@%wgwﬁmaﬁu
T e i g TR e H 6 W IR

1.5YF | 3R I




el

Match List | with List Il

lList 1 List

|thpllm Focus of Communication Process
A. Anthropology |I. Motivation

[B. Sociology Il. System

C. Psychology  |lll. Culture

[D. Management |IV. Society

Choose the correct answer from the options given below:

1T.A-ILB-N,C-IV,D-|

JA-LB-ILC-ILD- IV

4.A-IV,B-1,C-1,D-M
40
)
"
<4
%)
el - B g - Bt
Al - gt -l
B. I Gz
C. FIfag= . G
D. WaeT W, TS
e feu e fawegt A € W IR
TA-I,B-WL,C-IV,D-|
~ 2A-WB-W,C-LD-U
3.A-L,B-IL,C-,D-IV
4.A-N,B-1,C-1,D-M



